FOrReVvER | REDWOOD

From the Forest, For the Forest since 1995
866.332.2403 (TOLL FREE); 7am — 7pm Pacific Time, Monday-Saturday

ASSEMBLY INSTRUCTIONS FOR THE




(4reyd Bunjoou [pe1 40y AlUO)
suoddns Jeuobeiq

poddng juoi4

15a0eg

Jess

91A1S e L

91fis dsaq

Note: Part numbers in the Content of Boxes Table are for reference only. T

91A1S |1el Jo 3jA1S daaQ

sba

‘ON

Buimeaq

uondiiosag

‘1O

S3X04d 40 INJLNOD

Pl 1

MASSIVE WOODEN ROCKING CHAIR

www.ForeverRedwood.com



*8zIS uo Buipuadap Aten [[Im arempaey InoA Jo suolisuswiq

:310N

(sba| ayy 01 suoddns jeuchelp
3y} pue uoddns [eluouy ayy yoene o)
syog .. v X ..8/€

(I

‘(185 3y) 0}
suoddns euoBerp ayy yoene o] / sbaj ayl
01 153.39BQ 8y} pUe Jeas ay} yoene o)
sjog .. € X ..8/€

‘ON

Buimeaq

uondiiosag

1S1TT13dVMNMAYVH

P| 2

MASSIVE WOODEN ROCKING CHAIR

www.ForeverRedwood.com



§ — < | o
(%2}

z 2
O = o
— (@) o
|_ o o
o | g S| a3
T o a | =
| — ©

O < <
] o S
L | <
o )

Note: Part numbers in the Drawing are for reference only. These do not match to the numbers marked on the parts sent.

P|3



Step 1: Use 5/16"" x 3% bolts (A) to attach the legs (1) to the seat (2). Each part has a series of numbers that indicate where to
attach the part with the corresponding number.

5/16” X 3 %" Bolts

Step 2: Attach the backrest (3) to the legs with 5/16”" x 3 %" bolts (A). Each part has a series of numbers that indicate where to
attach the part with the corresponding number.

5/16” X 3 %" Bolts

P| 4

MASSIVE WOODEN ROCKING CHAIR
www.ForeverRedwood.com



Step 3: Attach the frontal support (4) to the legs with 5/16"" x 4 %"" bolts (B). Each part has a series of numbers that indicate
where to attach the part with the corresponding number.

5/16" X 4 %."" Bolts

Finally, if your chair includes diagonal supports, then follow this instruction.

Step 4: Use 5/16"" x 3 %" bolts (A) to attach the diagonal supports (5) to the seat. After that, use 5/16"" x 4 %2"" (B) bolts to attach
to the legs. Each part has a series of numbers that indicate where to attach the part with the corresponding number.

5/16"" X 3 %"" Bolts

* 5/16"" X 4 ¥2"" Bolts

P|5

MASSIVE WOODEN ROCKING CHAIR
www.ForeverRedwood.com




Massive Wood Rocking Chair — Deep Style

Massive Wood Rocking Chair — Tall Style

MASSIVE WOODEN ROCKING CHAIR
www.ForeverRedwood.com

P| 6



This completes the Rocking Chair assembly. Hope you enjoy your set for many decades. If you ever have a problem or a
question, don't hesitate to call us (866 332 2403) or email us. We are here to support you.

P|7
MASSIVE WOODEN ROCKING CHAIR
www.ForeverRedwood.com



